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6. [Large Number −]

Skill 6.Skill 6.1 Subtracting large numbers without carry over using columns.Subtracting large numbers without carry over using columns.

Units:
7 − 3 = 4  ⇒ 4 units

Tens:
4 − 4 = 0  ⇒ 0 tens

Hundreds:
1 − 0 = 1  ⇒ 1 hundred

• Always keep your working columns in line, aligning units with units, tens with tens, etc.
• Subtract from right to left.

A.  

  1 4 7
 −  4 3

q)  9 7 5 8
 − 1 5 4 3

r)  4 7 9 4
 − 1 3 7 0

s)  6 3 1 9
 − 4 0 0 8

t)  8 3 7 8
 − 2 2 6 5

m)  6 7 8 9
 −  4 3 2

n)  2 5 0 5
 −  2 0 5

o)  8 7 9 6
 − 7 4 6 5

p)  6 7 4 5
 − 3 1 2 3

a)    9 8
   − 5 4

b)    2 9
   − 2 0

d)   4 3 6
  −  3 1

c)   5 6 7
  −  2 5

h)   7 9 5
  − 6 7 3

g)   8 8 8
  − 2 0 8

e)   1 5 6
  − 1 4 0

Q.   1 4 7
  −  4 3

f)   5 3 4
  − 1 2 3

k)  3 4 3 4
 −   1 3

l)  1 1 3 4
 −  1 2 3

i)   6 8 3
  − 1 1 2

j)   4 9 7
  − 2 8 1
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Skill 6.Skill 6.2 Subtracting large numbers with carry over using columns.Subtracting large numbers with carry over using columns.

Units:
5 − 7 = ? units.  The result is < 0.
To make the answer positive break
down the 4 tens.

Re-group the 10 units with the 5 units to 
make 15 units.

Now...
15 − 7 = 8 ⇒ 8 units 

Tens:
3 − 2 = 1 ⇒ 1 ten

Hundreds:
5 − 3 = 2 ⇒ 2 hundreds

• Always keep your working columns in line, aligning units with units, tens with tens, etc.
• Subtract from right to left.

A.  

  5 4 5
 − 3 2 7

Q.   5 4 5
  − 3 2 7

  5 4 5
 − 3 2 7

3 1

3 1
  5 4 5
 − 3 2 7

i)  4 5 9 1
 − 2 4 3 5

j)  5 7 8 4
 − 3 1 5 8

k)  9 2 1 3
 − 4 6 5 8

l)  4 3 7 2
 − 1 0 7 6

e)  5 7 3 9
 −  1 8 3

f)  2 4 1 4
 −   6 5

g)  6 0 0 0
 −  4 5 7

h)  3 6 4 8
 −  3 8 8

d)   7 0 0
  − 1 4 6

c)   3 6 3
  − 2 0 7

a)   6 3 2
  −  2 8

b)   4 4 4
  −  3 9

12
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Skill 6.Skill 6.3 Subtracting from a multiple of 10 (e.g. 20, 700, etc).Subtracting from a multiple of 10 (e.g. 20, 700, etc).

• Always keep your working columns in line, aligning units with units, tens with tens, etc.
• Subtract from right to left.

Units:
0 − 8 = ? units.  The result is < 0.
To make the answer positive break down 
the 3 hundreds (no tens available). 

Now...
10 − 8 = 2 ⇒ 2 units

Tens:
9 − 5 = 4 ⇒ 4 tens

Hundreds:
2 − 0 = 2 ⇒ 2 hundreds

A.  

  3 0 0
 −  5 8

a)    9 0
   −  7

b)    3 0
   −  4

c)    6 0
   − 1 5

d)    4 0
   − 2 8

e)    9 0
   − 1 6

f)    5 0
   − 1 3

g)    7 0
   − 3 7

h)    8 0
   − 5 4

Q.   3 0 0
  −  5 8

l)   8 0 0
  −  6 3

k)   9 0 0
  −  5 7

i)   4 0 0
  −   5

j)   5 0 0
  −   9

m)   5 4 0
  −  8 2

n)   8 1 0
  −  2 9

o)  1 0 0 0
 −  2 0 5

p)  2 0 5 0
 −  4 6 1

18
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